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QUESTION 1

Which two domain service providers are supported for authentication of Azure NetApp Files SMB shares? (Choose
two.) 

A. Active Directory Domain Services (ADDS) 

B. Azure Active Directory (Azure AD) 

C. Azure Active Directory External Identities 

D. Azure Active Directory Domain Services (AADDS) 

Correct Answer: BC 

 

QUESTION 2

Exhibit. 

You are implementing storage-as-a-service using the service levels that are shown in the exhibit. In your implementation
plan, which metric is used for the SLA and SLO? 

A. throughput 

B. I/O density 

C. latency 

D. RAID level 

Correct Answer: B 

 

QUESTION 3

You need to set up a data resilient configuration for Cloud Volumes ONTAP In AWS. In this scenario, which action will
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accomplish this task? 

A. Set up a multi-zone redundant configuration and use round robin in AWS. 

B. Set up a three-way active-active-passive redundant cluster between multiple regions of AWS. 

C. Set up an active-active HA cluster between two regions of AWS. 

D. Set up an active-passive redundant set of instances between two regions of AWS. 

Correct Answer: A 

 

QUESTION 4

You re-engineer your on-premises Infrastructure and migrating workloads to the cloud. You are asked to consider a
hybrid cloud deployment. 

Which two scenarios would highlight that a hybrid cloud deployment would be more appropriate for the workload in this
situation? (Choose two.) 

A. when used to provide a guaranteed low latency solution for your analytics workloads 

B. when specific data in your solution is not permitted to be moved to the cloud due to regulations or policies 

C. when used to reduce management between your on-premises data center and remote locations by hosting part of
your architecture in the cloud 

D. when used as a transition platform during a longer-term migration to a fully cloud-native solution 

Correct Answer: CD 

 

QUESTION 5

You are migrating your on-premises Microsoft SQL Server to Microsoft Azure VMs and Azure NetApp Files. You want to
avoid connectivity interruptions during scheduled maintenance operations. 

Which Azure NetApp Files feature satisfies this requirement? 

A. Manual QoS Capacity Pool 

B. Azure Application Consistent Snapshot Tool (AzAcSnap) 

C. Snapshot Revert 

D. SMB Continuously Available shares 

Correct Answer: B 

 

QUESTION 6

A customer is using AWS for their production environment. One of their applications uploads data into an AWS S3
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bucket and the customer wants to duplicate this data into NetApp Cloud Volumes ONTAP. In this scenario, how would
the customer copy their data from AWS S3 to Cloud Volumes ONTAP? 

A. Use Cloud Backup service. 

B. Use SaaS Backup. 

C. Use Cloud Tiering. 

D. Use Cloud Sync service. 

Correct Answer: B 

 

QUESTION 7

You are asked to design a monitoring solution for your Cloud Volumes ONTAP environment for AWS. You decide to
enable the Monitoring service in Cloud Manager. In this scenario, which two statements are correct? (Choose two. 

A. You must configure alerts through the Cloud Insights user interface. 

B. The Monitoring service displays the performance of clusters using the Active IQ page in NetApp Cloud Manager. 

C. You must have a pre-existing NetApp Cloud Insights tenant to enable the Monitoring service. 

D. The Monitoring service deploys a virtual machine into your VPC. 

Correct Answer: BC 

 

QUESTION 8

You are using Cloud Volumes ONTAP to store persistent data In a multi-tiered Web application on AWS. In this
scenario, which two architectures would improve application availability? (Choose two.) 

A. deployment of the Cloud Volumes ONTAP High Availability instances In a private subnet 

B. deployment of a AWS CloudHSM cluster in the same Availability Zone as a Cloud Volumes ONTAP single-node
instance 

C. deployment of a Cloud Volumes ONTAP single-node instance on a single dedicated compute host 

D. deployment of Web servers behind a network load balancer 

Correct Answer: BD 

 

QUESTION 9

You are designing a solution using NetApp Cloud Tiering and want to Include details for the user on how to monitor
network latency and throughput, so that they can identify potential bottlenecks that could affect the tiering service. 

In this scenario, which tool would you include in the design to complete this task? 
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A. Inactive Data Reporting 

B. Amazon CloudWatch 

C. NetApp Cloud Manager 

D. NetApp XCP 

Correct Answer: B 

 

QUESTION 10

You are designing a disaster-recovery solution for a customer who is running a critical workload on Azure NetApp Files.
You suggest cross-region replication 

In this scenario, which two statements are true? (Choose two.) 

A. Cross-region replication depends on Global VNet Peering. 

B. Cross-region replication can be used to replicate SMB workloads. 

C. Cross-region replication can replicate data between any two Azure regions 

D. Cross-region replication works only between designated region pairs. 

Correct Answer: BC 
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